Geometry Week 12 Monday Warm-up
Geometry Name

Find the errors in each proof and correct them. o

1. Given: AB//CD; m/1=m/2
Prove: m/3=m/4

1 o\/4

A C

Statements Reasons

1. AB/ICD; mA=mz2 |1. Given

2.m2=m/3"

If lines paraliel, then alt. ext. angles

S

(alt. ext. angles thm.)

3. mll=m/3 3. Linear Pair Postulate
— 4. If lines parallel, then corr. angles =
4' mll _ mé4 (corr angles post)
5. m/l=m/5 5. Substitution Property
B
D
2. Given: E//@; m/l=m/6
A 5C 2
3

Prove: AC//EF

4/6
7E F

Statements Reasons

1. 4B//CD; mA=ms6 |1. Given
2.mll=m/2 2. Substitution Property

3 m42 — m46 3. If lines parallel, then corr. angles = (corr

angles post)
4. AC//EF

4. If lines //, then s.s. int. angles supp. (ss.
int.
angles thm.)

—




Monday warm-up continued....

3. Given: 4B//DE; m/1=m/2 B D
Prove: m£3=m/4
C
A E
Statements Reasons
1. AB//DE; m/=m/2 |1. Given

2.mL2=mZ3 2. Linear Pair Postulate

3. m 41 —m 43 ?Altlifnltir;isg ﬂzr?ﬁiil_’) then alt. int. angles =
4. ml=m/2 4. Substitution Property
5.mL3=ms4 5. Substitution Property

wr r

© Performance Task 2
4. Inthe diagram below, a || b. For lines p and ¢ to be parallel, what is m /£ 4? Explain.
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Geometry Week 12 Tuesday Warm-up

1. Write the equation of the line that passes through
the point (3,—2) and is perpendicular to the line

2 | ANSWERS in SLOPE-INTERCEPT
y=—-x—1.
S FORM.

2. Write the equation of the line that passes through
the point (2,-3) and is parallel to the line
2x+ y=3.

3. Write the equation of the perpendicular bisector of
the line that passes through (10,-2) and (6, 4).



Geometry Week 12 Block Day Warm-up
1. Prove the Exterior Angle Theorem

Given: /1 is an exterior angle of AABC.
Prove: m/Zl1=mZ3+ms4

Statements Reasons
1. Z1 is an exterior 1.
angle of AABC.
2. mZl1+m22 =180 2.
3. 3. Triangle Sum Theorem
4. 4. Substitution Prop.
5 S.

2. Write the equation of the perpendicular bisector in point-slope
form of segment AB if A( 2,-3) and B( 4, 5).



